Madera Unified School District Staffing List - March 22, 2022

CE	CERTIFICATED LEAVE OF ABSENCE									
NAME		ASSIGNMENT	SITE	EFFECTIVE	JUSTIFICATION					
NONE		1100101(11111)	7112	DATES						
CE	CERTIFICATED SEPARATIONS									
<u>CE.</u>		TIONS	T	EFFECTIVE	I					
NAME ASSIGNMENT		ASSIGNMENT	SITE	DATES	JUSTIFICATION					
1 Sarah Van Groningen Teacher			Lincoln	6/3/2022	Resignation	Resignation				
CE	RTIFICATED EMPLOY	MENT								
NAME		ASSIGNMENT	SITE	EFFECTIVE	J	USTIFICATION				
NONE				DATES						
CE	RTIFICATED NEW POS	SITIONS & ELIMINATION OF	POSITIONS							
	NAME	ASSIGNMENT	SITE	EFFECTIVE	JUSTIFICATION					
		TISSIGI (TIZZI (T	SIL	DATES						
	NONE									
CI	 ASSIFIED LEAVE OF A	RSFNCF								
CL				EFFECTIVE						
	NAME	ASSIGNMENT	SITE	DATES	J	USTIFICATION				
	NONE									
CL.	ASSIFIED SEPARATION	<u>NS</u>								
	NAME	ASSIGNMENT	SITE	EFFECTIVE DATES	J	USTIFICATION				
1	Modesta Morales	Paraprofessional Aide - SN	Lincoln	3/18/2022	Resignation	on				
2 Jackeline Lepe		Child Nutrition Assistant - I	VLR	3/4/2022	Resignation	on				
3	3 Employee ID: 8043			3/18/2022	39 month reemployment list					
CL.	ASSIFIED NEW POSITI	ONS & ELIMINATION OF PO	SITIONS							
	NAME	ASSIGNMENT	SITE	EFFECTIVE DATES	HOURS	JUSTIFICATION				
	NONE									
CL.	ASSIFIED EMPLOYME	NT .								
	NAME	ASSIGNMENT	SITE	EFFECTIVE DATES	HOURS	JUSTIFICATION				
1	Robert Gamiz	Software Developer	Rain Creek (AC)	3/23/2022	8	Replacement				
2	Bruce Lo	Information Systems Technician	Rain Creek (IT)	3/23/2022	8	Replacement				
3	Maritza Garcia Moya	Child Nutrition Assistant - I	VLR	3/23/2022	3.5	Replacement				
4	Diliana Soto	Attendance - Secretary Spanish Bilingual	Parkwood	3/23/2022	8	Replacement				
5	Cinthia Perez	Cafeteria/Playground Aide	Alpha	3/23/2022	3	Replacement				
6	Jennifer Anderson	Paraprofessional Aide - Autism	Sierra Vista	3/23/2022 3/23/2022	3.5	Replacement				
7	Nathan Alvarado	Custodian	MSHS	3/23/2022	8	Replacement				
8	Vanessa Marin-Macugay	Student Advocate	RHS	3/23/2022	8	New Position				
9	Adela Cortes	Attendance - Secretary	MTHS	3/23/2022	8	Replacement				
10	Elizabeth Ochoa	Classroom Aide - Preschool	Alpha	3/23/2022	3.5	Replacement				
10	Liizaoeni Oenoa	Classicom / Nuc - 1 reschool	, ripiia	31 431 4044	<i>ی</i> .ی	кориссинен				

MUSD BOARD APPROVED: MARCH 22, 2022 MOTION NO. 154-2021/22 DOCUMENT NO. 289-2021/22

Madera Unified School District Staffing List - March 22, 2022

11	Bianca Resendez	Licensed Vocational Nurse	DO (H&W)	3/23/2022	8	Replacement
12	Irma Mendoza	Custodian	Nishimoto	3/23/2022	8	Replacement
13	Lorena Silva	Spanish Translator/Interpreter	DO (SPED)	3/23/2022	8	Replacement
14	Olivia Zantos	Paraprofessional Aide	Madison	4/1/2022	6.5	Replacement
15	Julie Chairez-Salinas	Paraprofessional Aide - PI	Nishimoto	3/23/2022	7	Replacement

3/22/2022 4:00PM

POSITION FTE COST/FTE TOTAL COST FUNDING SOURCE ROLE	Board Approved on DEPARTMENT or SITE Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services Fiscal Services	SEC LEAD Oracio Rodriguez Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia Arelis Garcia
POSITION	DEPARTMENT or SITE Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services Fiscal Services	Oracio Rodriguez Oracio Rodriguez Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
POSITION	Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services Fiscal Services	Oracio Rodriguez Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CE Vice Principal 1 \$140,500 \$140,500 LCFF Funds NO To CE Counselor 1 \$130,000 \$130,000 LCFF Funds NO To CL Administrative Assistant III 1 \$82,000 \$82,000 LCFF Funds NO To CL Safety Officers 2 \$69,000 \$138,000 LCFF Funds NO To DISTRICT SUPPORT STAFF CL Mechanic Technician 1 \$102,000 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO Sf CL Accounting/Budget Analyst 1 \$86,000 \$86,000 LCFF Funds NO Fi CL Data Analyst <th>Torres High School Torres High School Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services</th> <th>Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia</th>	Torres High School Torres High School Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CE Vice Principal 1 \$140,500 \$140,500 LCFF Funds NO To CE Counselor 1 \$130,000 \$130,000 LCFF Funds NO To CL Administrative Assistant III 1 \$82,000 \$82,000 LCFF Funds NO To CL Safety Officers 2 \$69,000 \$138,000 LCFF Funds NO To DISTRICT SUPPORT STAFF CL Mechanic Technician 1 \$102,000 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO Sf CL Accounting/Budget Analyst 1 \$86,000 \$86,000 LCFF Funds NO Fi CL Data Analyst <td>Torres High School Torres High School Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services</td> <td>Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia</td>	Torres High School Torres High School Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Oracio Rodriguez Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CL Administrative Assistant III 1 \$82,000 \$82,000 LCFF Funds NO To CL Safety Officers 2 \$69,000 \$138,000 LCFF Funds NO To DISTRICT SUPPORT STAFF CL Mechanic Technician 1 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO Sf CL Accounting/Budget Analyst 1 \$93,000 \$86,000 LCFF Funds NO Fi CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO Sf	Torres High School Torres High School Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Oracio Rodriguez Prince Marshall Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CL Safety Officers 2 \$69,000 \$138,000 LCFF Funds NO To DISTRICT SUPPORT STAFF CL Mechanic Technician 1 \$102,000 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$3100 LCFF Funds NO Pu CL Registrar Lead 1 \$93,000 LCFF Funds NO Sf CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fi CL Accounting Technician V 1 \$86,000 \$86,000 LCFF Funds NO Fi CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO Sf	Torres High School Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
S	Transportation Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
DISTRICT SUPPORT STAFF CL Mechanic Technician 1 \$102,000 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO SF CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fix CL Accounting Technician V 1 \$86,000 \$86,000 LCFF Funds NO Fix CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CL Mechanic Technician 1 \$102,000 \$102,000 LCFF Funds NO Tr CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 LCFF Funds NO SF CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fix CL Accounting Technician V 1 \$86,000 LCFF Funds NO Fix CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CL Relief Bus Driver 2 \$53,000 \$106,000 LCFF Funds NO Tr CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 LCFF Funds NO SF CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fix CL Accounting Technician V 1 \$86,000 LCFF Funds NO Fix CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Transportation Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Sandon Schwartz Prince Marshall Arelis Garcia
CL Senior Buyer 1 \$115,000 \$115,000 ESSER & LCFF Funds NO Pt CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO SF CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fi CL Accounting Technician V 1 \$86,000 LCFF Funds NO Fi CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Purchasing SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Sandon Schwartz Prince Marshall Arelis Garcia
CL Registrar Lead 1 \$93,000 \$93,000 LCFF Funds NO SF CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fix CL Accounting Technician V 1 \$86,000 \$86,000 LCFF Funds NO Fix CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	SFSS Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Prince Marshall Arelis Garcia
CL Accounting/Budget Analyst 1 \$93,000 \$93,000 ESSER & LCFF Funds NO Fit CL Accounting Technician V 1 \$86,000 \$86,000 LCFF Funds NO Fit CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Fiscal Services Fiscal Services/Payroll SFSS & Ed Services	Arelis Garcia
CL Accounting Technician V 1 \$86,000 \$86,000 LCFF Funds NO Fit CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	Fiscal Services/Payroll SFSS & Ed Services	
CL Data Analyst 2 \$106,000 \$212,000 LCFF Funds NO SF	SFSS & Ed Services	Arelis Garcia
CL Continious Improvement Manager 1 \$450,000 \$450,000 CFF Funds Alo IA-		Prince Marshall
CL Continious Improvement Manager 1 \$159,000 \$159,000 LCFF Funds NO Ac	Accountability & Comm	Babatunde Ilori
CL Coordinator of Expnaded Learning Opportunities Program 1 \$130,000 \$130,000 ELO-P NO Ed	Educational Services	Sheryl Sisil
CL Customer Service & School Systems Trainer 1 \$110,000 \$110,000 LCFF Funds NO Di	District	Todd Lile
12 Total Cost \$1,206,000		
ENROLLMENT GROWTH & PROGRAM EXPANSION		
CL Office Assistant - Bilingual 0.75 \$37,000 \$27,750 STATE PRESCHOOL NO Pr	Preschool	Sheryl Sisil
CL Paraprofessional - TK 13.81 \$38,000 \$524,875 CPP&I Grant & LCFF NO Va	Various Sites	Sheryl Sisil
CE Itinerant Elementary Music Teacher 7 \$103,000 \$721,000 ESSER & LCFF Funds NO Va	Various Sites	Sheryl Sisil
	Monroe Elementary	Todd Lile
	District	Joe Aiello
	District	Sheryl Sisil
ENROLLMENT GROWTH & PROGRAM EXPANSION Continue	2.50.100	10.10131 0.011
	District	Sheryl Sisil
	District	Sheryl Sisil
	District	Sheryl Sisil

CE	Psychologist	1	\$150,000	\$150,000	Special Ed Learning Recovery Grant	NO	Special Education	Prince Marshall
CE	Speech Language Pathologist	2	\$150,000	\$300,000	Special Ed Learning Recovery Grant	NO	Special Education	Prince Marshall
CE	Coordinator of Elementary Teacher Support Mentor Program	1	\$163,000	\$163,000	.25 LCFF Funds & .75 Title II	NO	District	Joe Aiello
							Howard Elementary	
CE	Vice Principal	1	\$149,000	\$0	LCFF Funds	NO	School	Lalo Lopez
		71.56	Total Cost	\$7,550,625				
		88.56		\$9,247,125	Total Estimated Increase/Decrease in Staff			

MADERA UNIFIED SCHOOL DISTRICT March 22, 2022

Coaches List

Last Name	First Name	School	Sport	Season
Palacios	Richard	TJ	Baseball	Spring
Nombrano	Paul	TJ	Softball	Spring
Valmonte	Kelly	TJ	Track	Spring
Lopez	Ryan	TJ	Softball	Spring
Ocegueda	Gerardo	TJ	Boys Volleyball	Spring
Rigby	John	Desmond	Boys Golf	Spring
Smith	Martin	Desmond	Baseball	Spring
Lea	Matthew	Desmond	Baseball	Spring
Grier	Lamar	MLK	Baseball	Spring
Murillo	Pedro	MLK	Baseball	Spring
Medrano	Raul	MLK	Track	Spring
Van Dyke	Emily	MLK	Boys Golf	Spring
Ruiz	Steven	MLK	Boys Tennis	Spring
Anderson	Justin	MSHS	Baseball	Spring
Gil	Javier	MSHS	Boys Volleyball	Spring
Jaimez-Benitez	Ruben	MSHS	Boys Volleyball	Spring
Espinoza	Hugo	MSHS	Boys Volleyball	Spring
Mabry	Jaquan	THS	Track	Spring
Nolen	Connor	THS	Track	Spring
Arias	Israel	THS	Track	Spring
Deleon	Alonzo	THS	Track	Spring
Tharp	Mariah	THS	Swimming	Spring
Ruggerberg	Phoebe	THS	Swimming	Spring
Borboa	Katie	THS	Diving	Spring
Johnston	Maurisa	THS	Boys Golf	Spring
Marquez	Joseph	THS	Boys Golf	Spring

<u> </u>			Т	
Gamch	Aurelia	THS	Softball	Spring
Sua	Angelina	THS	Softball	Spring
Cantu	Jessica	THS	Softball	Spring
Gutierrez	Laurel	THS	Comp Cheer	Spring
Mass	Charena	THS	Comp Cheer	Spring
Garcia	Mark	THS	Baseball	Spring
Ybarra	Robert	THS	Baseball	Spring
Guevara-Galindo	Fernando	THS	Baseball	Spring
Ayala	Heliodoro	THS	Boys Volleyball	Spring
Davie	Trinity	THS	Boys Volleyball	Spring
Martinez	Lorena	THS	Boys Volleyball	Spring
Aquio	Arturo	THS	Boys Volleyball	Spring
Leandre	Rick	MHS	Softball	Spring
Alvarez	Gerardo	MHS	Boys Volleyball	Spring
Melchor	Nathan	MHS	Boys Tennis	Spring
Bennett	Lisa	MHS	CoEd Dive	Spring
Catuiza	Andie	MS	Swimming	Spring
Catuiza	Mariah	MS	Swimming	Spring
Pacheco	Akram	Adams	MULES Wrestling	Winer
Salas	Alejandro	Alpha	MULES Wrestling	Winter
Jauregui	Ricardo	Alpha	MULES Wrestling	Winter
Barajas	Andrew	Berenda	MULES Wrestling	Winter
Bitter	Cindy	Chavez	MULES Wrestling	Winter
Benson	Ryan	Dixieland	MULES Wrestling	Winter
Diaz	Myra	Dixieland	MULES Wrestling	Winter
Salinas	Daniel	E. Arcola	MULES Wrestling	Winter
Gandy	Scott	E. Arcola	MULES Wrestling	Winter
Rodriguez	Maria	Howard	MULES Wrestling	Winter
Mirelez	Jovita	Howard	MULES Wrestling	Winter
Tinnaman	Christina	LaVina	MULES Wrestling	Winter
		•	•	•

Ortega	Roger	LaVina	MULES Wrestling	Winter
Cortez	Eddie	Madison	MULES Wrestling	Winter
	Leopoldo	Madison	MULES Wrestling	Winter
Lopez				
Montoya	Rick	Millview	MULES Wrestling	Winter
Blair	Ethan	Millview	MULES Wrestling	Winter
Espinoza	Hugo	Monroe	MULES Wrestling	Winter
Salazar-Lopez	Jocelyn	Nishimoto	MULES Wrestling	Winter
Solano	Roman	Nishimoto	MULES Wrestling	Winter
Gates	Randall	Parkwood	MULES Wrestling	Winter
Cantu	Regina	Pershing	MULES Wrestling	Winter
Cortez	Herman	Rose	MULES Wrestling	Winter
Somilledo	Moises	Rose	MULES Wrestling	Winter
Chrest	Brandon	S Vista	MULES Wrestling	Winter
Errecart	Ariq	S Vista	MULES Wrestling	Winter
Philp	Ryan	Washington	MULES Wrestling	Winter